=)
z
T
.
<
N
v

L
5
=
El
=
=
Eol
A
1
0]
F.é'l
E=H

R YAMAWA

202149 128 AXIE Al

Original
TIN ElElnRY
Jl~lll0l!ﬂ

2= OHHRHIM

Xi% it

TIN EIEF=3E
ATOIEEO

=cl2 452

III‘I —H%'IOH EAIJ\'Q




MSEE

TINEEts22 AToizet SVSP wss| U g
o [}2Fst ATHO| E2I12IE =0l

.m\ S RYAMAWARS. ) el isE LS
= O - o E42 6H SILLUIE A5 PIoH HEE:

= O

HIHSE QUAOIZEE MIEEIKSLICE

0X

SE
=
i

CIst ATHOI S THEOI EE s

SVSP TtaxH

I 4 TH agagsz e | 2 . WAHE : uurg
(m/min) | 10m‘/m|n 20m/min 30m/mi
HELAL ~S20C /7 SS400 10~20 : M |
L=
ZEEILY S25C~S45C 10~15 LHIZA F-SP saE
TELAD S45C~ 10~15
23 scMm 5~10 o \
AHIYA SUS304 5-10 \ SVSP
2 ISCIOITHAE /oS =
AC/ADC/ZDC LS EtA P
AMISCI0AE
((la=p L
10m/min 20m/min 30m/min
& X
[M3~Mé] Ds IM8~M12] Ds
e r B s
4 Y
4n s Zn s
L L
=2 ZIHS L ? ? s D =
A THONE == HEHS Al = () i s &) =P
M3X0.5 18,130 P2 | SY3.0GQNEV | 2.5P 46 9 14 26 4 3
M3.5X0.6 P2 | SY3.5HQNEV | 2.5P 52 1 16 29 5 3
M4X0.7 18,730 P3 | SY4.0IRNEV 2.5P 52 1 17 29 5 3
M5X0.8 19,780 P3 | SY5.0KRNEV | 2.5P 60 13 22 33 5.5 3
M6X1 21,560 P3 | SY6.OMRNEV | 2.5P 62 15 26 33 6 3
M8X1.25 30,700 P3 | SY8.ONRNEV | 2.5P 70 19 — 36 6.2 3
M10X1.5 39,170 P3 | SYOIOORNEV | 2.5P 75 23 - 38 7 3
M10X1.25 P3 | SYOIONRNEV | 2.5P 75 23 - 38 7 3
M10X1 P3 | SYOIOMRNEV | 2.5P 75 23 - 38 7 3
M12X1.75 53,660 P3 | SYOI12PRNEV | 2.5P 82 26 - 42 8.5 3
M12X1.5 P3 | SYOI120RNEV | 2.5P 82 26 - 42 8.5 3
M12X1.25 P3 | SYOI12NRNEV | 2.5P 82 26 - 42 8.5 3
M12X1 P3 | SYOI2MRNEV | 2.5P 82 26 - 42 8.5 3

R YAMAWA



